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After being closed for a long time, the switch becomes open at t=0.  Find R2 and R3 that 
give the following plot for vc(t): 

 
 
2.   
 
 
 
 
 
 
 
 
 
 
 
 
After being closed for a long time, the switch becomes open at t=0.  Find iL(t) for t > 0. 
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After the switch has been open for a long time, it closes at t=0.  Find vo(t) for t > 0. 
 
4. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
After the switch is in position 1 for a long time, it switches to position #2 at time t=0.  
Find the output voltage vo(t) for t > 0.  
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